Math 31 - Quiz 1.3 - PRSD VC

February 27 2019 Name
dy dydu

@)Y g@)f (@) - g @) @) e dy dydu
(£3) - o | (flel@) = Fa(e))g' (@) or 2L = B 20

Find the derivatives of the following. You do not need to simplify. No marks will be awarded
on this quiz for simplification. 3 marks for each question for a total of 6 marks.

) 5
- (22
Solution:
fl(z)=5 ( 2”44 > (2 o32) @@
2z — 3 (2x — 3)2
_ 5(z*+4)* 42® — 6z —22% —8
T (2234 (2z—3)
_ 5(z? +4)*(22* — 6z — 8)
B (2z — 3)6
B 10(x2 + 4)4(302 —3x —4)
B (2z — 3)6
Vhr +4
2. g(z) = 6
Solution:
g'(z) = (@26 %(&U ° 4)_% () - @e)vbe +4 full marks
(z2 — 6)?
522 —6)(bz+4): —4z\bz + 4
B 2(z2 —6)2

5(x% — 6) — 4z (5x + 4)
2(z2 — 6)2/bx +4
522 — 30 — 2022 — 16z
2(z2 —6)2/bz +4
—152% — 16z — 30
2(x2 — 6)24/bz + 4




